E2ALBREZT7IILT7EFE AHRBXF

e

JEa

K%

20219 5 A21H (%)

LEHEAV N —0 57

N | 44 g ouT IN TOTAL
1BaH# & L &%{EGC 34 38 72
QIARE BT [L&GC 38 36 74
3|EF  REA NFCC 40 36 76
4l A [L&GC 39 37 76
50 #&Fa INCL (60 36 40 76
6|FEE F=8F L &ZR1EGC 41 36 77
= =mCC 37 40 77
8|l =mE =mCC 37 40 77
9 =E & Y=Y v X7 L X EGC 36 41 77
10[&k =B JEDEGC 36 41 77
11+ Fz FARHEGC 40 38 78
2R Flz V=Y v 27 LXRGC 44 35 79
Biza kX NFHCC 40 39 79
14(LE Ft JEDEGC 39 40 79
15(#AF 8L JEDEGC 39 40 79
16[AR B =mCC 39 40 79
178EF Rk JEDEGC 37 42 79
18|+ 2 [LBHIZECC 41 39 80
19(a3h3k #O5 IL&7ECC 40 40 80
205 h— [LBHIZECC 40 40 80
21| LB #ht IL&GC 40 40 80
22|thE A AFHRCC 39 41 80
23| KRR =Mk INC L I=(6l0 39 41 80
24| BF V=2 v 27 LXRGC 39 41 80
25| EHR RB FAHHEGC 38 42 80
26 JEHRE JEDEGC 38 42 80
27&l  FH— JLSHIZECC 38 42 80
28|[EE R [LBHIZECC 42 39 81
9|k A IL&GC 40 41 81
30{#kH s V=2 v 27 LXRGC 40 41 81
31|l FBR JLSHIZECC 40 41 81
2|8 & =rCC 40 41 81
3B|FE BEE IL&GC 38 43 81
34|f@sK  Th =rCC 42 40 82
35(&F 1% KEJIGC 42 40 82
36(REE EE [KBHIZECC 40 42 82
J7EE B K &1EfacC 39 43 82
38[EEE & IL&GC 46 37 83
394k B— V=2 v 27 L X KRGC 46 37 83
40|EA —F& L& &EGC 43 40 83
41|1@EL Bk IL&GC 42 41 83
42|31 HEB =mCC 41 42 83
43|/ AR REE INCESIAE]0 41 42 83
dAEE BES NFCC 40 43 83
45|7%  Ria V=2 v 27 L X KRGC 38 45 83




46|80 AR JEDEGC 38 45 83
AT|KE H Y—Y w25 LR RGC 44 40 84
48|78 EE I~ E1EBCC 44 40 84
49|EE R FU—GC 43 41 84
S0t & I~ EHIEECC 43 41 84
51|+ 240 [KEfE{ACC 43 41 84
h2|EAt ZE—ER I~ E1EBCC 42 42 84
B3|HEEH A =/CC 42 42 84
54|%BE  EEff JEDEGC 41 43 84
B5|EH 588 REFECC 44 41 85
S6lfEHt Ex FzY—GC 43 42 85
57(ITF Bz ATFACC 43 42 85
5S|EER  E— NFHCC 43 42 85
S3e] K =®CC 43 42 85
60| BB INCY[ETe0 42 43 85
61(FIEE =& = &E1RCC 42 43 85| MULEFEBBE
62l & =7CC 42 43 85
63|z —F R E£18CC 42 43 85
64|EE TE =7CC 41 44 85
65[FE & I~ BHILECC 44 42 86
66FMH T NFHCC 44 42 86
67|=t8 Mt JEDEGC 43 43 86
68|54 %A i DEGC 43 43 86
69|mm &= =®CC 41 45 86
70[ilg  FEfE INCYR[ET00 44 43 87
T1[RE EE REFECC 44 43 87
72|145  IER X &E{ACC 44 43 87
73|@d B [REHIECC 44 43 87
T4lfIR BB FzY—GC 43 44 87
T5(FE/N FHE EBZ&EGC 43 44 87
T6(FTHE  FIRB = &&1RCC 43 44 87
UGN REGC 42 45 87
78|B L M =&CC 41 46 87
79[k 2B =EGC 44 44 88
80(H PRsE Y—Yr X7 LR PGC 42 46 88
8l|AA 5 JEDEGC 41 47 88
82| L% R REGC 41 47 88
83\Im = [REHIECC 37 51 88
VNN = =®CC 45 44 89
85[ka  HE= JEDEGC 44 45 89
86|MBER —ik [R&7CC 44 45 89
87|EmE S NFHCC 44 45 89
88[Fi; —A F11—GC 43 46 89
89t #HX [RE7ECC 46 44 90
0[EE FH F11—GC 44 46 90
91|MmmE RE [REHIECC 43 47 90
92|~ IEA REGC 43 47 90
93(pTER &z JEDEGC 48 43 91
94|HE Bt REGC 45 46 91
95(dL  EA =#CC 44 47 91




%|=5 & JLEHIZECC 42 49 91
97|AIE A3 NFHCC 42 49 91
9|/MEH B L SHIECC 49 43 92
Pk DEE =mCC 45 a7 92
100|& # K &1EfacC 45 47 92
101 REFA JE— [LBHIZECC 44 48 92
102/hB &1E IL&7ECC 48 45 93
103(2@H 1B INCESE]0 46 a7 93
104[/PE - ik JL&GC 53 41 94
105(8RMA #&— =mCC 52 42 94
106|/6HE & KHEIGC 46 48 94
107|f&8R #= JLSHIZECC 49 46 95
108|)1lig;  fe IR&GC 47 48 95
109|257  JEX [LSHIZECC 55 41 96
110|KRH &z JEDEGC 50 46 96
111k 58 INCL (60 49 47 96
112[ L= = RS 1E{RCC 44 52 96
113 B& FxzU—-GC 50 47 97
114[RE  ZEpX IREZREGC 51 47 98
115(FFR #X V=Y v X7 L X RGC 47 51 98
116(384A =% [LBHIZECC 51 48 99
117(Rf fR— =mCC 48 56 104




